# A Certain Class of Analytic Functions Associated with Fractional Derivative Operators* 

Sayali S. Joshi ${ }^{\dagger}$<br>Mauli Prasad Apartment, Warnali Road, Vishrambag, Sangli 416415, Maharashtra, India

Received November 28, 2006, Accepted December 16, 2006.


#### Abstract

The present paper aims at a systematic investigation of a new class $S_{\lambda, \mu, \eta}(\alpha, \beta, A, B, m)$ of analytic functions in open unit disk $\mathcal{U}$. We have derived several results like characterization property, distortion theorem and other interesting properties of the same class.


Keywords and Phrases: Analytic functions, Distortion theorem, Hadamard product.

## 1. Introduction, Definitions and Preliminaries

Let $\mathcal{A}$ be the class of functions $f(z)$

$$
\begin{equation*}
f(z)=z-\sum_{n=2}^{\infty} a_{n} z^{n} \quad\left(a_{n} \geq 0 ; n \in \mathbb{N}=\{1,2,3, \ldots\}\right) \tag{1.1}
\end{equation*}
$$

which are analytic in the open unit disk $\mathcal{U}:=\{z:|z|<1\}$.

[^0]We introduce a subclass $S_{\lambda, \mu, \eta}(\alpha, \beta, A, B, m)$ of analytic functions $f(z)$ belonging to $\mathcal{A}$ and satisfying the condition

$$
\begin{equation*}
\left|\frac{\Delta_{z, m}^{\lambda, \mu, \eta} f(z)-1}{(B+(A-B)(1-\alpha))-B \Delta_{z, m}^{\lambda, \mu, \eta} f(z)}\right|<\beta \quad(z \in \mathcal{U}), \tag{1.2}
\end{equation*}
$$

where
$0 \leq \lambda<1,0 \leq \alpha<1, \mu<1,0<\beta \leq 1,-1 \leq B<A \leq 1,0<A \leq 1, m \in \mathbb{N}$
and

$$
\begin{equation*}
\eta>\max (\lambda, \mu)-1 \tag{1.3}
\end{equation*}
$$

where the function $\Delta_{z, m}^{\lambda, \mu, \eta} f(z)$ is defined by

$$
\begin{equation*}
\Delta_{z, m}^{\lambda, \mu, \eta} f(z)=L(\lambda, \mu, \eta, m) z^{\frac{\mu}{m}-1} D_{0, z, \frac{1}{m}}^{\lambda, \mu, \eta} f(z) \tag{1.4}
\end{equation*}
$$

such that $0 \leq \lambda<1, \mu<1, m \in \mathbb{N}, \eta>\max \{\lambda, \mu\}-1$ and

$$
\begin{equation*}
L(\lambda, \mu, \eta, m)=\frac{\Gamma(1-\mu+m) \Gamma(1+\eta-\lambda+m)}{\Gamma(1+m) \Gamma(1+\eta-\mu+m)} \tag{1.5}
\end{equation*}
$$

where the operator $D_{0, z, \frac{1}{m}}^{\lambda, \mu, \eta} f(z)$ is modified fractional derivative operator of Saigo et al. [9] and is defined as follows.
Definition 1. For $0 \leq \alpha<1, \beta, \eta \in \mathbb{R}$ and $m \in \mathbb{N}$
$D_{0, z, m}^{\alpha, \beta, \eta} f(z)=\frac{d}{d z}\left\{\frac{z^{-m(\beta-\alpha)}}{\Gamma(1-\alpha)} \int_{0}^{z}\left(z^{m}-t^{m}\right)^{-\alpha} f(t) F\left(\beta-\alpha, 1-\eta, 1-\alpha, 1-\frac{z^{m}}{t^{m}}\right) d\left(t^{m}\right)\right\}$.

The function $f(z)$ is analytic in simply connected domain of the $z$-plane containing the origin, with the order $f(z)=O\left(|z|^{\epsilon}\right), z \longrightarrow 0$. where $\epsilon>$ $\max \{0, m(\beta-\eta)\}-m$. The multiplicity of $\left(z^{m}-t^{m}\right)^{-\alpha}$ in (1.6) is removed by requiring $\log \left(z^{m}-t^{m}\right)$ to be real when $\left(z^{m}-t^{m}\right)>0$, and assumed to be well defined in the unit disk.

The operator defined by (1.6) include the well known Riemann- Liouvlle and Erdelyi-Kober operator of fractional calculus. The theory of fractional calculus has recently found interesting applications in the theory of analytic functions. The classical definition of Riemann- Liouville in fractional calculus
operator $[13,14]$ and their various generalization have fruitfully been applied in obtaining, for example, characterization properties, coefficient estimates, distortion inequalities and convolution structure for various subclasses of analytic functions. We investigate here several basic properties and characteristics of a general subclass $S_{\lambda, \mu, \eta}(\alpha, \beta, A, B, m)$. These include for example, sharp bounds on coefficients, distortion theorem and result concern with Hadamard product. We note that our subclass generalizes several classes studied earlier by Gupta and Jain [3], Raina and Bolia [7,8], Bhatt and Raina [1] and Srivastava and Aouf [11] and others ([4], [5], [6]) as well as several works presented in the recent research monographs [13] and [14].

## 2. Characterization

Before stating and proving our main result, we need the following result to be used in the sequel.

Lemma 1. If $0 \leq \alpha<1, m \in \mathbb{N}, \beta, \eta \in \mathbb{R}$ and $k>\max \{0, m(\beta-\eta)\}-m$, then

$$
\begin{equation*}
D_{0, z, \frac{1}{m}}^{\alpha, \beta, n} z^{k}=\frac{\Gamma\left(1+\frac{k}{m}\right) \Gamma\left(1+\eta-\beta+\frac{k}{m}\right)}{\Gamma\left(1-\beta+\frac{k}{m}\right) \Gamma\left(1+\eta-\alpha+\frac{k}{m}\right)} z^{k-m \beta} \tag{2.1}
\end{equation*}
$$

We investigate characterization property of the function $f(z)$ to be belonging to the class $S_{\lambda, \mu, \eta}(\alpha, \beta, A, B, m)$, thereby obtaining coefficient bounds.

Theorem 1. A function defined by (1.1) is in the class $S_{\lambda, \mu, \eta}(\alpha, \beta, A, B, m)$ if and only if

$$
\begin{equation*}
\sum_{n=2}^{\infty} \Phi_{n}(\lambda, \mu, \eta, m)(1-B \beta) a_{n} \leq(A-B) \beta(1-\alpha) \tag{2.2}
\end{equation*}
$$

where

$$
\begin{equation*}
\Phi_{n}(\lambda, \mu, \eta, m)=L(\lambda, \mu, \eta, m) M(\lambda, \mu, \eta, m, n) \tag{2.3}
\end{equation*}
$$

with $L(\lambda, \mu, \eta, m)$ defined by (1.5) and

$$
\begin{equation*}
M(\lambda, \mu, \eta, m, n)=\frac{\Gamma(1+n m) \Gamma(1+\eta-\mu+n m)}{\Gamma(1+\eta-\lambda+n m) \Gamma(1-\mu+n m)} . \tag{2.4}
\end{equation*}
$$

under the conditions given by (1.3). The result (2.2) is sharp.

Proof. Suppose that (2.2) holds true, and let $|z|=1$. Then using (1.4), (1.5) and (2.1), we have

$$
\begin{aligned}
& \left|\Delta_{z, m}^{\lambda, \mu, \eta} f(z)-1\right|-\beta\left|(B+(A-B)(1-\alpha))-B \Delta_{z, m}^{\lambda, \mu, \eta} f(z)\right| \\
= & \left|-\sum_{n=2}^{\infty} \Phi_{n}(\lambda, \mu, \eta, m) a_{n} z^{n-1}\right| \\
& -\beta\left|((A-B)(1-\alpha))+B \sum_{n=2}^{\infty} \Phi_{n}(\lambda, \mu, \eta, m) a_{n} z^{n-1}\right| \\
\leq & \sum_{n=2}^{\infty} \Phi_{n}(\lambda, \mu, \eta, m)(1-\beta B) a_{n}-(A-B)(1-\alpha) \leq 0
\end{aligned}
$$

by hypothesis, where $\Phi_{n}(\lambda, \mu, \eta, m)$ is given by (2.3). Therefore, it follows that $f(z) \in S_{\lambda, \mu, \eta}(\alpha, \beta, A, B, m)$.

Conversely, suppose that $f(z)$ defined by (1.1) be such that $f \in S_{\lambda, \mu, \eta}(\alpha, \beta, A, B, m)$. Then, in view (1.2), we have

$$
\begin{aligned}
& \left|\frac{\Delta_{z, m}^{\lambda, \mu, \eta} f(z)-1}{(B+(A-B)(1-\alpha))-B \Delta_{z, m}^{\lambda, \mu, \eta} f(z)}\right| \\
= & \frac{\left|\sum_{n=2}^{\infty} \Phi_{n}(\lambda, \mu, \eta, m) a_{n} z^{n-1}\right|}{\left|((A-B)(1-\alpha))+B \sum_{n=2}^{\infty} \Phi_{n}(\lambda, \mu, \eta, m) a_{n} z^{n-1}\right|}<\beta \quad(z \in \mathcal{U}) .
\end{aligned}
$$

Since $\Re(z) \leq|z|$, for all $z$, we get

$$
\begin{equation*}
\Re\left(\frac{\sum_{n=2}^{\infty} \Phi_{n}(\lambda, \mu, \eta, m) a_{n} z^{n-1}}{((A-B)(1-\alpha))+B \sum_{n=2}^{\infty} \Phi_{n}(\lambda, \mu, \eta, m) a_{n} z^{n-1}}\right)<\beta \tag{2.5}
\end{equation*}
$$

Now choosing the value of $z$ on real axis, simplifying and letting $z \longrightarrow 1^{-}$ through the real values, we get

$$
\begin{equation*}
\sum_{n=2}^{\infty} \Phi_{n}(\lambda, \mu, \eta, m) a_{n} \leq \beta(A-B)(1-\alpha)+B \beta \sum_{n=2}^{\infty} \Phi_{n}(\lambda, \mu, \eta, m) a_{n} \tag{2.6}
\end{equation*}
$$

which yields (2.2). We also note that the assertion (2.2) is sharp and extremal function is given by

$$
\begin{equation*}
f(z)=z-\frac{(A-B)(1-\alpha) \beta}{(1-B \beta) \Phi_{n}(\lambda, \mu, \eta, m)} z^{n}, \quad(n \geq 2) \tag{2.7}
\end{equation*}
$$

Remark 1. If $\mu=\lambda=m=1$, then in view of (1.4), (1.5) and (1.6), we have,

$$
\begin{equation*}
\Delta_{z, 1}^{1,1, n} f(z)=f^{\prime}(z) \tag{2.8}
\end{equation*}
$$

and also we note that for $B=-1$, and $A=1$, we get the class studied by Bhatt and Raina as follows

$$
\begin{equation*}
S_{\lambda, \mu, \eta}(\alpha, \beta, 1,-1, m)=S_{\lambda, \mu, \eta}(\alpha, \beta, m) \tag{2.9}
\end{equation*}
$$

Corollary 1. Let the function defined by (1.1) belongs to the class $S_{\lambda, \mu, \eta}(\alpha, \beta, A, B, m)$. Then,

$$
\begin{equation*}
a_{n} \leq \frac{(A-B)(1-\alpha) \beta}{(1-B \beta) \Phi_{n}(\lambda, \mu, \eta, m)}, \quad(\forall n \geq 2) \tag{2.10}
\end{equation*}
$$

where $\Phi_{n}(\lambda, \mu, \eta, m)$ is given by (2.3).
Remark 2. From (2.10), we express

$$
a_{n} \leq \frac{(A-B)(1-\alpha) \beta}{(1-B \beta) \Phi_{n}(\lambda, \mu, \eta, m)}=K \frac{\Gamma(1+\eta-\lambda+n m) \Gamma(1-\mu+n m)}{\Gamma(1+n m) \Gamma(1+\eta-\mu+n m)}
$$

where

$$
K=\frac{(A-B)(1-\alpha) \beta \Gamma(1+m) \Gamma(1+\eta-\mu+m)}{(1-B \beta) \Gamma(1+\eta-\lambda+m) \Gamma(1-\mu+m)} \leq 1
$$

which is observed to be true for
$0 \leq \lambda \leq \mu<1,0 \leq \alpha<1,0<\beta \leq 1,-1 \leq B<A \leq 1,0<A \leq 1, m \in \mathbb{N}, \eta \in \mathbb{R}^{+}$.
Using the asymptotic for the ratio of gamma function. For finite large $n$, we note that

$$
\frac{\Gamma(1+\eta-\lambda+n m) \Gamma(1-\mu+n m)}{\Gamma(1+n m) \Gamma(1+\eta-\mu+n m)} \approx(m n)^{-\lambda} \leq n \quad(0 \leq \lambda<1)
$$

The assertion (2.10) of corollary 1 therefore satisfies

$$
\begin{equation*}
a_{n} \leq \frac{(A-B)(1-\alpha) \beta}{(1-B \beta) \Phi_{n}(\lambda, \mu, \eta, m)} \leq n, \quad(\forall n \geq 2) \tag{2.11}
\end{equation*}
$$

for
$0 \leq \lambda \leq \mu<1,0 \leq \alpha<1,0<\beta \leq 1,-1 \leq B<A \leq 1,0<A \leq 1, m \in \mathbb{N}, \eta \in \mathbb{R}^{+}$.

Thus, if $T$ denote the class of functions $f(z)$ of the form

$$
\begin{equation*}
f(z)=z+\sum_{n=2}^{\infty} C_{n} z^{n}, \quad(z \in \mathcal{U}) \tag{2.12}
\end{equation*}
$$

that are analytic and univalent in $\mathcal{U}$, then there do exist function $f \in S_{\lambda, \mu, \eta}(\alpha, \beta, A, B, m)$, with
$0 \leq \lambda \leq \mu<1,0 \leq \alpha<1,0<\beta \leq 1,-1 \leq B<A \leq 1,0<A \leq 1, m \in \mathbb{N}, \eta \in \mathbb{R}^{+}$, not necessarily in the class $T$, for which the celebrated Bieberbach conjecture (de Branges Theorem)

$$
\begin{equation*}
\left|C_{n}\right| \leq n \quad(n \geq 2) \tag{2.13}
\end{equation*}
$$

holds true [2].

## 3. Distortion Theorem

Theorem 2. Let the function $f(z)$ defined by (1.1) be in the class $S_{\lambda, \mu, \eta}(\alpha, \beta, A, B, m)$.
Then

$$
\begin{equation*}
f(z) \geq|z|-\frac{(A-B)(1-\alpha) \beta}{(1-B \beta) \Phi_{2}(\lambda, \mu, \eta, m)}|z|^{2} \tag{3.1}
\end{equation*}
$$

and

$$
\begin{equation*}
f(z) \leq|z|+\frac{(A-B)(1-\alpha) \beta}{(1-B \beta) \Phi_{2}(\lambda, \mu, \eta, m)}|z|^{2} \tag{3.2}
\end{equation*}
$$

for $z \in \mathcal{U}$, where $\Phi_{2}(\lambda, \mu, \eta, m)$ is given by (2.3) holds under the conditions given by (1.3).
Proof. If $f \in S_{\lambda, \mu, \eta}(\alpha, \beta, A, B, m)$, then by virtue of Theorem 1, we have

$$
\begin{equation*}
\Phi_{2}(\lambda, \mu, \eta, m)(1-B \beta) \sum_{n=2}^{\infty} a_{n} \leq \sum_{n=2}^{\infty} \Phi_{n}(\lambda, \mu, \eta, m) a_{n}(1-B \beta) \leq(A-B)(1-\alpha) \beta . \tag{3.3}
\end{equation*}
$$

This yields

$$
\begin{equation*}
\sum_{n=2}^{\infty} a_{n} \leq \frac{(A-B)(1-\alpha) \beta}{\Phi_{2}(\lambda, \mu, \eta, m)(1-B \beta)} \tag{3.4}
\end{equation*}
$$

Now,

$$
\begin{equation*}
|f(z)| \geq|z|-|z|^{2} \sum_{n=2}^{\infty} a_{n} \geq|z|-\frac{(A-B)(1-\alpha) \beta}{(1-B \beta) \Phi_{2}(\lambda, \mu, \eta, m)}|z|^{2} \tag{3.5}
\end{equation*}
$$

Also,

$$
\begin{equation*}
|f(z)| \leq|z|+|z|^{2} \sum_{n=2}^{\infty} a_{n} \leq|z|+\frac{(A-B)(1-\alpha) \beta}{(1-B \beta) \Phi_{2}(\lambda, \mu, \eta, m)}|z|^{2} \tag{3.6}
\end{equation*}
$$

which proves the assertion (3.1) and (3.2).
Theorem 3. Let the function $f(z)$ defined by (1.1) be in the class $S_{\lambda, \mu, \eta}(\alpha, \beta, A, B, m)$. Then

$$
\begin{align*}
& \left|D_{0, z, \frac{1}{m}}^{\lambda, \mu, \eta} f(z)\right| \geq \frac{|z|^{1-\frac{\mu}{m}}}{L(\lambda, \mu, \eta, m)}\left[1-\frac{(A-B) \beta(1-\alpha)}{1-\beta B}|z|\right]  \tag{3.7}\\
& \left|D_{0, z, \frac{1}{m}}^{\lambda, \mu, \eta} f(z)\right| \leq \frac{|z|^{1-\frac{\mu}{m}}}{L(\lambda, \mu, \eta, m)}\left[1+\frac{(A-B) \beta(1-\alpha)}{1-\beta B}|z|\right] \tag{3.8}
\end{align*}
$$

for $z \in \mathcal{U}$, if $\mu \leq m$, and $z \in \mathcal{U} \backslash\{0\}$ if $\mu>m$, where $L(\lambda, \mu, \eta, m)$ is given by (1.5), under the condition given by (1.3).

Proof. Using (1.1),(1.5) and (2.1), we observe that

$$
\begin{aligned}
\left|L(\lambda, \mu, \eta, m) z^{\frac{\mu}{m}} D_{0, z, \frac{1}{m}}^{\lambda, \mu, \eta} f(z)\right| & =\left|z-\sum_{n=2}^{\infty} \Phi_{n}(\lambda, \mu, \eta, m) a_{n} z^{n}\right| \\
& \geq|z|-\sum_{n=2}^{\infty} \Phi_{n}(\lambda, \mu, \eta, m) a_{n}|z|^{n} \\
& \geq|z|-|z|^{2} \sum_{n=2}^{\infty} \Phi_{n}(\lambda, \mu, \eta, m) a_{n} \\
& \geq|z|-|z|^{2} \frac{(A-B) \beta(1-\alpha)}{(1-\beta B)}
\end{aligned}
$$

because $f \in S_{\lambda, \mu, \eta}(\alpha, \beta, A, B, m)$, by hypothesis. Thus, the assertion (3.7) is proved. The assertion (3.8) can be proved in similar manner.
Corollary 2. Under the hypothesis of Theorem 2, $f(z)$ is included in a disk with its centre at the origin and radius $r$ given by

$$
\begin{equation*}
r=1+\frac{(A-B) \beta(1-\alpha)}{(1-\beta B) \Phi_{n}(\lambda, \mu, \eta, m)} \tag{3.9}
\end{equation*}
$$

Corollary 3. Under the hypothesis of Theorem 3, $D_{0, z, \frac{1}{m}}^{\lambda, \mu, \eta} f(z)$ is included in a disk with its centre at the origin and radius $R$ given by

$$
\begin{equation*}
R=\frac{1}{L(\lambda, \mu, \eta, m)}\left[1+\frac{(A-B) \beta(1-\alpha)}{(1-\beta B)}\right] . \tag{3.10}
\end{equation*}
$$

## 4. Properties of the class $S_{\lambda, \mu, \eta}(\alpha, \beta, A, B, m)$

We next study some interesting properties of the class.
Theorem 4. Let $0 \leq \lambda<1, \mu<1,0 \leq \alpha<1,0<\beta \leq 1,-1 \leq B<A \leq$ $1,0<A \leq 1,0 \leq \alpha^{\prime}<1,0<\beta^{\prime} \leq 1,-1 \leq B^{\prime}<A^{\prime} \leq 1,0<\overline{A^{\prime}} \leq 1, m \in$ $\mathbb{N}, \eta>\max \{\lambda, \mu\}-1$. Then

$$
\begin{equation*}
S_{\lambda, \mu, \eta}(\alpha, \beta, A, B, m)=S_{\lambda, \mu, \eta}\left(\alpha^{\prime}, \beta^{\prime}, A^{\prime}, B^{\prime}, m\right) \tag{4.1}
\end{equation*}
$$

if and only if

$$
\begin{equation*}
\frac{(A-B) \beta(1-\alpha)}{(1-\beta B)}=\frac{\left(A^{\prime}-B^{\prime}\right) \beta^{\prime}\left(1-\alpha^{\prime}\right)}{\left(1-\beta^{\prime} B^{\prime}\right)} \tag{4.2}
\end{equation*}
$$

Proof. First assume that $f \in S_{\lambda, \mu, \eta}(\alpha, \beta, A, B, m)$, and let the condition (4.2) hold true. By using assertion (2.2) of Theorem 1, we have then

$$
\begin{equation*}
\sum_{n=2}^{\infty} \Phi_{n}(\lambda, \mu, \eta, m) a_{n} \leq \frac{(A-B) \beta(1-\alpha)}{(1-\beta B)}=\frac{\left(A^{\prime}-B^{\prime}\right) \beta\left(1-\alpha^{\prime}\right)}{\left(1-\beta^{\prime} B^{\prime}\right)} \tag{4.3}
\end{equation*}
$$

which readily shows that $f \in S_{\lambda, \mu, \eta}\left(\alpha^{\prime}, \beta^{\prime}, A^{\prime}, B^{\prime}, m\right)$, making use of Theorem 1 .

Reversing the above steps, we can establish the other part of the equivalence of (4.1). Conversely, the assertion (4.1) can easily be used to imply the condition (4.2) and this completes the proof of Theorem 4.

Remark 3. For $0 \leq \lambda<1, \mu<1,0 \leq \alpha<1,0<\beta \leq 1,-1 \leq B<A \leq$ $1,0<A \leq 1, \quad m \in \mathbb{N}, \eta>\max \{\lambda, \mu\}-1$, it follows that from (4.1) that

$$
\begin{equation*}
S_{\lambda, \mu, \eta}(\alpha, \beta, A, B, m)=S_{\lambda, \mu, \eta}\left(\frac{1-A \beta+(A-B) \alpha \beta}{(1-\beta B)}, 1,1,-1, m\right) \tag{4.4}
\end{equation*}
$$

Theorem 5. Let $0 \leq \lambda<1, \mu<1,0 \leq \alpha_{1} \leq<\alpha_{2}<1,0<\beta \leq 1,-1 \leq$ $B<A \leq 1,0<A \leq 1, m \in \mathbb{N}, \eta>\max \{\lambda, \mu\}-1$. Then

$$
\begin{equation*}
S_{\lambda, \mu, \eta}\left(\alpha_{1}, \beta, A, B, m\right) \supset S_{\lambda, \mu, \eta}\left(\alpha_{2}, \beta, A, B, m\right) \tag{4.5}
\end{equation*}
$$

Proof. The result follows easily from Theorem 1.

## 5. Results involving Hadamard Product

In this section we study interesting properties and theorems for the class of the
functions $S_{\lambda, \mu, \eta}(\alpha, \beta, A, B, m)$ involving the modified Hadamard product of several functions. Let $f(z)$ be defined by (1.1) and let

$$
\begin{equation*}
g(z)=z-\sum_{n=2}^{\infty} b_{n} z^{n} \quad\left(b_{n} \geq 0\right) \tag{5.1}
\end{equation*}
$$

Then the modified Hadamard product of $f(z)$ and $g(z)$ is given by

$$
\begin{equation*}
(f * g)(z)=z-\sum_{n=2}^{\infty} a_{n} b_{n} z^{n} \tag{5.2}
\end{equation*}
$$

The following result reveals an interesting property of the modified Hadamard product of several functions.

Theorem 6. Let the functions $f_{1}(z), f_{2}(z), f_{3}(z), \cdots, f_{r}(z)$ defined by

$$
\begin{equation*}
f_{i}(z)=z-\sum_{n=2}^{\infty} C_{n, i} z^{n} \quad\left(C_{n, i} \geq 0\right) \tag{5.3}
\end{equation*}
$$

be in the class $S_{\lambda, \mu, \eta}\left(\alpha_{i}, \beta_{i}, A_{i}, B_{i}, m\right), i=1,2,3, \ldots r$, respectively. Also, let

$$
\begin{equation*}
\Phi_{2}(\lambda, \mu, \eta, m)\left(1-\max _{1 \leq i \leq r} \beta_{i} B_{i}\right) \geq 1 \tag{5.4}
\end{equation*}
$$

Then

$$
\begin{equation*}
f_{1} * f_{2} * \cdots * f_{r}(z) \in S_{\lambda, \mu, \eta}\left(\prod_{i=1}^{r} \alpha_{i}, \prod_{i=1}^{r} \beta_{i}, \prod_{i=1}^{r} A_{i}, \prod_{i=1}^{r} B_{i}, m\right) . \tag{5.5}
\end{equation*}
$$

The result is sharp.
By hypothesis, $f_{j}(z) \in S_{\lambda, \mu, \eta}\left(\alpha_{i}, \beta_{i}, A_{i}, B_{i}, m\right)$, for all $i=1,2, \cdots, r$ therefore, by Theorem 1, we have

$$
\begin{equation*}
\sum_{n=2}^{\infty} \Phi_{n}(\lambda, \mu, \eta, m)\left(1-B_{i} \beta_{i}\right) C_{n, i} \leq\left(A_{i}-B_{i}\right) \beta_{i}\left(1-\alpha_{i}\right) \tag{5.6}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{n=2}^{\infty} C_{n, i} \leq \frac{\left(A_{i}-B_{i}\right) \beta_{i}\left(1-\alpha_{i}\right)}{\Phi_{2}(\lambda, \mu, \eta, m)\left(1-B_{i} \beta_{i}\right)}, \text { for all, } i=1,2, \cdots \tag{5.7}
\end{equation*}
$$

For $\beta_{i}$ satisfying $0<\beta \leq 1, \quad i=1,2, \cdots$, we observe that

$$
\begin{aligned}
& \sum_{n=2}^{\infty} \Phi_{n}(\lambda, \mu, \eta, m)\left[1-\prod_{i=1}^{r} B_{i} \beta_{i}\right] \prod_{i=1}^{r} C_{n, i} \\
\leq & \sum_{n=2}^{\infty} \Phi_{n}(\lambda, \mu, \eta, m)\left[1-B_{r} \beta_{r}\right] \prod_{i=1}^{r} C_{n, i} \\
= & \sum_{n=2}^{\infty}\left\{\Phi_{n}(\lambda, \mu, \eta, m)\left[1-B_{r} \beta_{r}\right] C_{n, r}\right\} \prod_{i=1}^{r} C_{n, i} .
\end{aligned}
$$

Using (5.6) for any fixed $i=r$, and (5.7) for rest, it follows

$$
\begin{aligned}
& \sum_{n=2}^{\infty} \Phi_{n}(\lambda, \mu, \eta, m)\left[1-\prod_{i=1}^{r} B_{i} \beta_{i}\right] \prod_{i=1}^{r} C_{n, i} \\
\leq & \frac{\beta_{r}\left(A_{r}-B_{r}\right)\left(1-\alpha_{r}\right) \prod_{i=1}^{r-1} \beta_{i}\left(A_{i}-B_{i}\right)\left(1-\alpha_{i}\right)}{\prod_{i=1}^{r-1}\left(1-B_{i} \beta_{i}\right)\left\{\Phi_{2}(\lambda, \mu, \eta, m)\right\}^{r-1}} \\
\leq & \prod_{i=1}^{r} \beta_{r} \prod_{i=1}^{r}\left(A_{r}-B_{r}\right) \prod_{i=1}^{r}\left(1-\alpha_{i}\right)\left[\frac{1}{\Phi_{n}(\lambda, \mu, \eta, m) 1-\max _{1 \leq i \leq r} \beta_{i} B_{i}}\right]^{r-1} \\
\leq & \prod_{i=1}^{r} \beta_{i}\left[\prod_{i=1}^{r} A_{i}-\prod_{i=1}^{r} B_{i}\right]\left[\prod_{i=1}^{r}\left(1-\alpha_{i}\right)\right]
\end{aligned}
$$

because in view of (5.4)

$$
\begin{equation*}
0<\left[\frac{1}{\Phi_{2}(\lambda, \mu, \eta, m)\left[1-\max _{(1 \leq i \leq r)}\left(1-\beta_{i} B_{i}\right)\right]}\right] \leq 1 . \tag{5.8}
\end{equation*}
$$

Hence with the aid of Theorem 1, the assertion (5.5) is proved. For $\alpha_{i}=$ $\alpha, \beta_{i}=\beta, A_{i}=A, B_{i}=B, 1=1,2,3 \cdots r$, Theorem 6 yields the following result.

Corollary 4. Let the functions $f_{1}(z), f_{2}(z), f_{3}(z), \cdots, f_{r}(z)$ defined by (5.3) be in the same class $S_{\lambda, \mu, \eta}(\alpha, \beta, A, B, m), i=1,2,3, \ldots r$, . Also, let

$$
\begin{equation*}
\Phi_{2}(\lambda, \mu, \eta, m)(1-\max \beta B) \geq 1 \tag{5.9}
\end{equation*}
$$

Then

$$
\begin{equation*}
f_{1} * f_{2} * f_{3} \cdots * f_{r}(z) \in S_{\lambda, \mu, \eta}\left(\alpha^{r}, \beta^{r}, A^{r}, B^{r}, m\right) \tag{5.10}
\end{equation*}
$$

Theorem 7. Let the functionsf $f_{i}(z)(i=1,2)$, defined by (5.3) be in the class $S_{\lambda, \mu, \eta}(\alpha, \beta, A, B, m)$. Then

$$
\begin{equation*}
\left(f_{1} * f_{2}\right)(z) \in S_{\lambda, \mu, \eta}(\sigma, \beta, A, B, m) \tag{5.11}
\end{equation*}
$$

where

$$
\begin{equation*}
\sigma=\sigma(\alpha, \beta, A, B, \lambda, \mu, \eta, m)=1-\frac{(A-B) \beta(1-\alpha)^{2}}{\Phi_{2}(\lambda, \mu, \eta, m)(1-\beta B)} \tag{5.12}
\end{equation*}
$$

The result is sharp.
Proof. Employing the technique used earlier by Schild and Silverman [10 ], we need to find the largest $\sigma$ such that

$$
\begin{equation*}
\sum_{n=2}^{\infty} \frac{\Phi_{n}(\lambda, \mu, \eta, m)(1-\beta B)}{(A-B) \beta(1-\sigma)} C_{n, 1} C_{n, 2} \leq 1 \tag{5.13}
\end{equation*}
$$

where $\sigma$ is the function given by (5.13). By Cauchy-Schwarz inequality it follows from (2.2) of Theorem 1 that

$$
\begin{equation*}
\sum_{n=2}^{\infty} \frac{\Phi_{n}(\lambda, \mu, \eta, m)(1-\beta B)}{(A-B) \beta(1-\sigma)} \sqrt{C_{n, 1} C_{n, 2}} \leq 1 \tag{5.14}
\end{equation*}
$$

Let us find $\sigma$ such that

$$
\begin{equation*}
\sum_{n=2}^{\infty} \frac{\Phi_{n}(\lambda, \mu, \eta, m)(1-\beta B)}{(A-B) \beta(1-\sigma)} C_{n, 1} C_{n, 2} \leq \sum_{n=2}^{\infty} \frac{\Phi_{n}(\lambda, \mu, \eta, m)(1-\beta B)}{(A-B) \beta(1-\sigma)} \sqrt{C_{n, 1} C_{n, 2}} \tag{5.15}
\end{equation*}
$$

which implies that

$$
\begin{equation*}
\sqrt{C_{n, 1} C_{n, 2}} \leq \frac{1-\sigma}{1-\alpha} \text { with } n \geq 2 \tag{5.16}
\end{equation*}
$$

In view of (5.15) it is sufficient to find largest $\sigma$ such that

$$
\begin{equation*}
\frac{(A-B) \beta(1-\alpha)}{\Phi_{n}(\lambda, \mu, \eta, m)(1-\beta B)} \leq \frac{1-\sigma}{1-\alpha}, \tag{5.17}
\end{equation*}
$$

which yields

$$
\begin{equation*}
\sigma \leq 1-\frac{(A-B) \beta(1-\alpha)^{2}}{\Phi_{n}(\lambda, \mu, \eta, m)(1-\beta B)} \tag{5.18}
\end{equation*}
$$

That is

$$
\begin{equation*}
\sigma \leq 1-\frac{(A-B) \beta(1-\alpha)^{2}}{(1-\beta B)} \Theta_{1}(n) \tag{5.19}
\end{equation*}
$$

where

$$
\begin{equation*}
\Theta_{1}(n)=\frac{1}{\Phi_{n}(\lambda, \mu, \eta, m)} \tag{5.20}
\end{equation*}
$$

Noting that $\Theta_{1}(n)$ is decreasing function of $n(n \geq 2)$ for a fixed $\lambda, \mu, \eta, m$ satisfying $0 \leq \lambda \leq \mu<1, m \in \mathbb{N}$, and $\eta \in \mathbb{R}^{+}$since we have for large

$$
\frac{\Theta_{1}(n+1)}{\Theta_{1}(n)} \frac{(n+1)^{-\lambda}}{(n)^{-\lambda)}}=\left[1-\frac{1}{n+1}\right]^{\lambda} \leq 1
$$

for $n \geq 2,0 \leq \lambda<1$ and under aforementioned constraints. Hence,

$$
\begin{equation*}
\sigma \leq \sigma(\alpha, \beta, A, B, \lambda, \mu, \eta, m)=1-\frac{(A-B) \beta(1-\alpha)^{2}}{(1-\beta B)} \Theta_{1}(2) \tag{5.21}
\end{equation*}
$$

In view of (5.14), (5.18), (5.20), and (5.22), the assertion (5.12) is hence proved. Lastly, by considering the function

$$
\begin{equation*}
f_{i}(z)=z-\frac{(A-B) \beta(1-\alpha)^{2}}{(1-\beta B) \Phi_{2}(\lambda, \mu, \eta, m)} z^{2}, \quad(i=1,2) \tag{5.22}
\end{equation*}
$$

it can be shown that the result is sharp.

## Acknowledgement

The author would like to thank Professor M. K. Aouf for his valuable advice and suggestions during preparation of this paper.

## References

[1] S. Bhatt and R. K. Raina, A new class of analytic functions involving certain fractional derivative operators, Acta Math. Univ. Comenianae 77 (1999), 179-193.
[2] L. de Branges, A proof of the Bieberbach conjecture, Acta Math. 154 (1985), 137-152.
[3] V. P. Gupta and P. K. Jain, Certain classes of univalent functions with negative coefficients. II, Bull. Austral. Math. Soc. 15 (1976), 467-473.
[4] S. Owa, On the distortion theorems. I, Kyungpook Math. J. 18 (1978), 53-59.
[5] R. K Raina, Boundedness properties for a generalized fractional integral operator on a class of p-valent functions, Pan Amer. Math. J. 8 (1997), 115-126.
[6] R. K Raina, On certain classes of analytic functions and applications to fractional calculus operators, Integral Transform. Spec. Funct. 5 (1997), 247-260.
[7] R. K. Raina and M. Bolia, Characterization properties for starlike and convex functions involving a class of fractional integral operator, Rend. Sem. Math. Univ. Padova 97 (1997), 61-71.
[8] R. K. Raina and M. Bolia, On distortion theorems involving generalized fractional calculus operators, Tamkang J. Math. 27 (1996), 233-241.
[9] M. Saigo, R. K. Raina, and A. A. Kilbas, On generalized fractional calculus operator and their composition with axis symmetric differential operator of the potential theory on spaces $F_{\mu}$ and $F_{\mu}^{\prime}$, Fukuoku Univ. Sci. Rep. 23 (1993), 133-154.
[10] A. Schild and H. Silverman, Convolution of univalent functions with negative coefficients, Ann. Univ. Marie-Curie Sklodowska Sect A 19 (1975), 99-107.
[11] H. M. Srivastava and M. K. Aouf, A certain fractional derivative operator and its applications to a new class of analytic and multivalent functions with negative coefficients, J. Math. Anal. Appl. 171 (1992), 1-13.
[12] H. M. Srivastava and S. Owa, A new class of analytic functions with negative coefficients, Comment. Math. Univ. St. Paul. 32 (1986), 175-178.
[13] H. M. Srivastava and S. Owa (Editors), Current Topics in Analytic Function Theory, World Scientific Publishing Company, Singapore, New Jersey, London and Hong Kong, 1992.
[14] H. M. Srivastava and S. Owa (Editors), Univalent Functions, Fractional Calculus, and Their Applications, Halsted Press (Ellis Horwood Limited, Chichester), John Wiley and Sons, New York, Chichester, Brisbane and Toronto, 1989.


[^0]:    *2000 Mathematics Subject Classification. Primary 30C80; Secondary 30C45.
    ${ }^{\dagger}$ E-mail: sayali-75@yahoo.co.in

